EARAROBEEIERT — 2 N— IBISH —F

2012568240 (B) 1EIZXEE6H

R Xl

REEFI

=]

(:EA)

HEE] B

(xwlm [ memml - |y ) oo nE

[A~&E£] 174,600,000 ~ 23 :1,800,000 37 :1,200,000 1

/47 1690,000 F 5 7& : 460,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
2 . 4 3 | HHEEA 1:47.2 3-3-2-1 [38.8| — 7 502 | fREEEZ ()
117l @7V EXZ7 [B] 5.0 - (g) | KIFER
i:Lawyer Ron B: 7 ERX%Z— Yoshiyuki Ilto
S, 4 3 | BEEfRT 1:47.2 4-5-3-3 | 38.7| — 1 478 | AKER (RR)
218l12| ¥ 7>~ 56.0 (7E) (42) &) FrrL-vy
LYK YIYRIR BV HA b J—HrIr—L
N 4 3 | EERMEN 1:47.6 11-10-10-7 | 38.7 | — 2 510 | SEEE (BH)
EH | TAIRT 72 b L 56.0 2 1/2) (o) |FIVH-EZ ()
R:&ZJF¥LLY N BHAAIZRTHY =0 BB
. FHE—H : —13-12- — EE AR (EH)
al1lq |79 rErsz 3 e 1(/:\;;? 13-13-12-10 38.3 11 tg)z e
LB /IR BixauIANnysy KIF R4S
> — e s 3 | REXE 1:47.7 4-4-4-4 | 39.1| — 4 416 | SHAE— (FR)
EE 2| ®T YA TEY 54.0 (7E) (- | NI
A2:Smart Strike B:IIL/ 7 Yoshimi Ilchikawa
L Sy, 4 3 | ENEASE 1:48.0 9-9-4-5 [39.4| — 6 496 | FREX ()
o 27> >%— (8l 5.0 @ Lo | ) Wris
L:ZRNTTZXX— B:STUZX RS
= 4 3 | KEHRYR 1:48.1 4-5-8-10 |39.4| — 5 468 | EEEER ()
ZH g|IRXELAZ 54.0 (1/2) (o) | B EvILyKT7—L
w4 xteL I B:)—HNTadq EvJdLy RT77—L4
> . > 3| EABZ 1:48.2 1-1-1-2 |39.9| -— 12 | 466 |/EFEA (FF)
815|6 13 '77 S g A53.0 (1/2) +2) AARGFIE
LixfagR—-5— B:XV KIS
L g st 3 | JIERE 1:48.4 7-7-8-7 | 39.7| — 8 486 | BREBFIZ (FRR)
91813 @/’7‘”’7]: R [B] 56.0 (1 1/4) (+14) FRPE
A:Comic Strip £F:Spring Vacation BnD Thoroughbreds
D S, (OS2 3 | 8BLA 1:48.5 10-11-4-5 |39.9 | — 9 484 | KAMRFE (FH)
g4 RKZ24 [B] e 56.0 (1/2) (+6) (B) ¥+0Oy h77—L
L:€>r/n7a4 B:TL1> RS
YIS FZTI 4 3 %I_JSEE— 1:(428>.8 8-8-10-12 [ 39.9 | — 10 | 434 ggge (ER)
RixFIZTr—2 BRULTFLIZTY— © 13555574
N 4 3 | EALEX 1:49.1 2-2-4-7 |40.5| — 3 486 | /NBKX (EH)
A4 agEy v 56.0 (1 3/4) (1) | AAHFIE
R:w>NNy&>h7z H:ayalL =re)
- s FBEIR : -12-13- — EHA (EH)
553 v—% [B] 4 3 o5 1.(590).6 12-12-13-13| 41.2 13 (4_128) rhl
IT7IN=K BioA Y-S v—7 RAB F=—
@ 71 L
) 51.7-38.9
NEA> 24 L | 6.8-10.8-12.1-12.8-13.0-12.8-12.8-12.8-13.3
® I —F—@EBIERL
13=7r= (x6,7)10(2,8,12)13,5,11-9,3-4,1
20—F— 6,7,10,2(8,12)13,5,11,3,9-4,1
33—7+— |6,10,12(2,7,11,9) (8,13) (5,3)-1,4
41—+ — (6,%10)12,2(11,9) (7,13,3) (8,1)5-4
[ RN
B OB 10 2,300 714K 10-12 510M e & 7-8 580M &R 3-10-12 2,140
% B 10 330M 3-10 1,110 | | B & 10-12 1,310 | | =& | 10-12-3 26,430
12 110 3-12 230M B H 10-12 4,430
3 1709

ABICOVWTRDTEEERROODE. TR LIV,




